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» Statisticians refer to the mean and
median as measures of centradl
tendency.

»The mean and the median are
summary measures used to describe
the most "typical’ value in a set of
values.
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Sample Question:
Find the sample mean for the following set of numbers:

12, 13, 14, 16, 17, 40, 43, 55, 56, 67, 78, 78, 79, 80, 81, 90, 99,
101, 102, 304, 306, 400, 401, 403, 404, 405.
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Median b..g.wj." -Y—-§

It is the midpoint of a distribution.
(50% of the data up and 50%

down).
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Find the median for the following set of numbers:

12,13, 14, 16, 17, 40, 43, 55, 56, 67, 78, 78, 79, 80, 81,
90, 99, 101, 102, 304, 306, 400, 401, 403, 404, 405

N= 26
Md= 79.5
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Find the median for the following set of numbers:

16, 17, 40, 43, 55, 56, 67, 78, 78, 79, 80, 81, 90, 99, 101,
102, 304, 306, 400, 401, 403, 404, 405

N=23
Md= 81
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Find the sample mode for the following set of numbers:

12,13, 14, 16, 17, 40, 43, 55, 56, 67, 78, 78, 79, 80, 81,
90, 99, 101, 102, 304, 306, 400, 401, 403, 404, 405.

{Mode= 78}

;S o)l ac il guw o \RXW-1-V ] JW & > RS VRAVAPA L




d 35 1 A ) Gl il —Luso s

au38 poll acsdl pulio \ £g.090]] W 8yuic o> &+5/1/157Q




S gl 3l gl g s dag 13Lo V-0

@»‘ el o ALl A 411 3 Aglsnd] ol gil) 08 ol 53 o g
LoV el Je

s nio diad) 10 420 Jo [

i) 138 953 g1 0321 o dglasd) Sl gill pd e 5Ly aabinl Jo [
68 Ul @iy j20

au38 poll acsdl pulio \ £g.090]] W 8yuic o> &+5/1/157Q




¢ godall Syl é Sl il 0 (0 dadiwl LinS —Y—0

plaill o Ailod) A 11 3 Ll 15 301 Fopplassd) ol gl o Ui gl V=Y
gl
b il
sy

.

=J) gl

75 ol 0da @il ko o il Aol IS U g yall § Ll plad) Jgld) o il 030 e 2Ly —Y-¥
<l el

&3S yoll acsill uwlio \ £g.090]] W 8yuic o> &+5/1/157Q




Sagaed! Lola Y1 ) Jogill 23 Jo —¥—0

2 b5 < lgo Gl e LST LIl & caonis b 3 oSy o) 13)
: &Y It

i s e (Sl RS Al del s 55 ) 1
09 138 Gaiind) ddlon¥l dawg)l B b cduwg ) digall oo 4o

&3S yoll acsill uwlio \ £g.090]] W 8yuic o> &+5/1/157Q




c?b.l\

» hitp://onlinestatbook.com/2/summarizing distributions/what is ct.ntml

» Nitps://statistics.laerd.com/statistical-qguides/measures-central-tendency-
mean-mode-median.php

» http://www.statisticshowto.com/sample-mean/

» hitp://onlinestatbook.com/2/summarizing_distributions/comparing_measur
es.html

® Nhttp://onlinestatbook.com/2/summarizing_distributions/measuresM.htm|
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